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Kuta Software - Infinite Geometry Name___________________________________

  Period____Date________________Properties of Parallelograms

Find the measurement indicated in each parallelogram.
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Solve for 

     

x.  Each figure is a parallelogram.
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Find the measurement indicated in each parallelogram.

19)  Find RQ
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23.	Find	the	coordinates	of	the	intersection	of	the	diagonals	of	the	parallelogram		
with	vertices	 ( ) ( ) ( ) ( )2, 1 , 1, 3 , 6, 3 , and 3, 1 .- - - 	

	
	
	
24. Find the coordinates of the intersection of the diagonals of the parallelogram with 

vertices ( ) ( ) ( ) ( )2, 4 , 4, 4 , 2, 12 , and 4, 4 .- - -  

	

	
	
	
	
	
	



In Exercises 25 and 26, three vertices of are given. Find the coordinates of 
the remaining vertex. 

 25. ( ) ( ) ( )2, 0 , 2, 2 , 2, 2A B D- - -  

 

 

 

 

26. ( ) ( ) ( )1, 3 , 1, 2 , 1, 2A C D- - - -  
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